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Order the sentences to create a paragraph, then compare it with the article. 

 

 
 
 
 
 

 
 
 

 
 
 
 

Choose True (T) , False (F) or Not Mentioned (NM). 
 

 
 

 
P.S.T. 

Budapest and Warsaw lost stability indicators due to geopolitical tensions. ----



Due to the fact that hundreds of Western firms left Russia, ----------------------


If the war in Ukraine continues this year, even more cities will suffer from 
disruptions in food and fuel supplies. -------------------------------------------------


And Russian Moscow and St. Petersburg fell in the ranking from 15th and 13th 

place to 80th and 88th, -------------------------------------------------------------------




